CAN PARITY BE OBTAINED BETWEEN BSNL & MTNL FOR JTOs AND SDEs. IF JTO given E-2 Scale and SDE given E -3 Scale in BSNL ?

Though in both BSNL and MTNL the JTOs may be in E -2 Scale and SDE in E -3 Scale w.e.f. 01-01-07 still there will be a lot of disparity

in their actual pay pockets since and MTNL JTO gets fixed from E-2 Scale to E-2 scale and BSNL JTO get fixed from E 1-A scale to E 2 scale.

Likewise a MTNL SDE gets fixed from E 3 scale to E 3 scale whereas a BSNL SDE gets fixed from E 2 A Scale to E 3 scale.

| | | | | | |
Compare the fixation of a JTO in BSNL and MTNL in the same stage as on 01-01-2007.
Since a BSNL JTO could have got financial upgradation ‘to SDE sca;e in maxim‘um 6 years on 01-10-2006 only 7 stages are compared.
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| | |
BSNL JTO : Present Scale E1 A. BSNL JTO Proposed Scale E 2 (Assumed)
9850-250-14600 20600-46500
Stage Basic Pay DA 68.8 % Pay+DA | Add 30 % Aggregate Rounded Revised Pay
1 9850 6777 16627 4988.11 21615.1 21620 21620
2 10100 6949 17049 5114.7| 22163.7 22170 22170
3 10350 7121 17471 5241.3) 22712.3 22720 22720
4 10600 7293 17893 5367.9 23260.9 23270 23270
5 10850 7465 18315 5494.5 23809.5 23810 23810
6 11100 7637 18737 5621.1 24358.1 24360 24360
7 11350 7809 19159 5747.7 24906.7 24910 24910
MTNL JTO : Present Scale E 2. MTNL JTO Proposed Scale E 2
10750-300-16750 20600-46500
Stage Basic Pay DA 68.8 % Pay+DA Add 30 % 'Aggregate Rounded Revised Pay
1 10750 7396 18146 5443.8 23589.8 23590 23590
2 11050 7602 18652 5595.6) 24247.6 24250 24250
3 11350 7809 19159 5747.7) 24906.7 24910 24910
4 11650 8015 19665 5899.5| 25564.5 25570 25570
5 11950 8222 20172 6051.6 26223.6 26230 26230
6 12250 8428 20678 6203.4| 26881.4 26890 26890
7 12550 8634 21184 6355.2 27539.2 27540 27540
Compare the fixation of a SDE in BSNL and MTNL in the same stage as on 01-01-2007.
Though a BSNL SDE could have got financial upgradation to Sr.SDE scale in maximum 5 years on 01-10-2006 Since he could have been in fixed
higher stages while he got promoted from JTO to SDE, 10 stages are compared
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BSNL SDE Present Scale :E2 A BSNL SDE Proposed Scale : E 3 (Assumed)
11875-300-17275 24900-50500
Stage Basic Pay DA 68.8 % Pay+DA Add 30 % 'Aggregate Rounded Revised Pay
1 11875 8170 20045 6013.5 26058.5 26060 26060
2 12175 8376 20551 6165.3 26716.3 26720 26720
3 12475 8583 21058 6317.4, 27375.4 27380 27380
4 12775 8789 21564 6469.2) 28033.2 28040 28040
5 13075 8996 22071 6621.3) 28692.3 28700 28700
6 13375 9202 22577 6773.1) 29350.1 29360 29360
7 13675 9408 23083 6924.9/ 30007.9 30010 30010
8 13975 9615 23590 7077 30667 30670 30670
9 14275 9821 24096 7228.8) 31324.8 31330 31330
10 14575 10028 24603 7380.9/ 31983.9 31990 31990
MTNL SDE Present Scale : E 3 MTNL SDE Proposed Scale : E 3 (Assumed)
13000-350-18250 24900-50500
Stage Basic Pay DA 68.8 % Pay+DA | Add 30 % Aggregate Rounded Revised Pay
1 13000 8944 21944 6583.2] 28527.2 28530 28530
2 13350 9185 22535 6760.5 29295.5 29300 29300
3 13700 9426 23126 6937.8) 30063.8 30070 30070
4 14050 9666 23716 7114.8) 30830.8 30840 30840
5 14400 9907 24307 7292.1) 31599.1 31600 31600
6 14750 10148 24898 7469.4, 32367.4 32370 32370
7 15100 10389 25489 7646.7) 33135.7 33140 33140
8 15450 10630 26080 7824 33904 33910 33910
9 15800 10870 26670 8001 34671 34680 34680
10 16150 11111 27261 8178.3] 35439.3 35440 35440
Though given equal scale E 2, E 3 a JTO/ SDE with the same service or in the same stage will be fixed at different pay.
| | | | | | |
This is because there is no point to point fixation in pay scales. The fitment benefit is 30 %. Only.
| | | | | | | |
Though presently in E 1 A Scale a JTO at the minimum of the scale in E 1 A crosses the minimum of revised E 2 scale while fixing him in the revised scale.
| | | | | | | | | | | | |
Likewise though presently in E 2 A Scale a SDE at the minimum of the scale in E 2 A crosses the minimum of revised E 3 scale while fixing him in the revised scale.




So a JTO/SDE do not get any added benefit by getting fixed E 2, E 3 scale.

Because actually with the fitment benefit they are already above the E2 scale / E 3 scale.

There may be parity in pay scale but there will be no parity in pay.

What you get is only 30 % fitment benefit like any other executive gets.




